DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

Name:
TEST 2
Time: Score: y—
v —87910 + 10 = 0 2151 + (=5) =
2 —146.8 +5 = 1156430 + 9 =
) —56.392 47 = 5 —89.46 = (—3) =

) 4127+ 0.5 =

5 35240 + 10 =

6 6476.4 +9 =

N —196.28 =~ (—0.02) =
9 —68.94+ (—1) =
9 —414+0.2 =

10 15.756 + 0.04 =
1 —=9240 =10 =

12) —22900 + 5 =

1) —2282 + 7=
1135.063 + 0.007 =

5 236.8 + (—2) =

Mathematics: Division - Level 6 - Horizontal - Set 3
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—405.76 + 8 =
—121.84 -4 =
197 =10 =
—330.05 +5 =
—139.82 -2 =
2157 +3 =
883.8 +9 =
29024 =8 =
—3377 =+ (—10) =
29.524 + 0.4 =
—4.4 =+ (—10) =

—46.89 + 0.05 =
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